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1. ‘O YewW O e e W SRSl ST TR,
(1) SE9m (2) WHSI-H
@ & (@ Fm
‘Lavasa’ project in the Pune district is located on the bank of river.
(1) Chandrabhaga (2) Mula-Mutha
(3) Mose (4) Krishna
2, &t v wR TN A fael 3 o fivwEeg ake A 2
1) srdfades @ s g
3) T AU fras 4) FEdfas s
Against which bill had Shree Anna Hazare launched his agitation at New Delhi ?
(1) Finance bill (2) Reservation bill
(3) Jan Lokpal bill (4) Bill about law making
3. YRAWHIS IR YUY WU HH R G F 2
(1) g ve§ frT ves
(2) wafeor 7 fagm &
(@) e fawe-ies
(0 “&-foFw A
Name the institute that works for the protection of rivers against pollution in India.
(1) Central Pollution Control Board
(2) Environment and Science Centre
(3) Water Resources Development Board
(4) Rivers Development Project
4. oot don o sifemea v REA 2011 = 9RNeE T R 31 wewnl B 2

1 50 (2) 49 (3) 48 (4) 47

How many countries participated in the Delhi Ministerial Conference of Least
Developed Countries held in February 2011 ?

(1) 50 (2) 49 (3) 48 (4) 47
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fean ST ST S WU ?
(1) AR T EH (2) ot T agem
3) & W A (4) fEd 9 e

To ‘control agricultural production’ and ‘encourage rural development’ what subsidies
are granted by the WTO ?

(1) Amber box subsidies (2) Green box subsidies
(3) Blue box subsidies (4) Yellow box subsidies .,
6. ST RS YHeqEd PAFH RO oRar & U Hower I AR ?
(1) JUHT (3R | (2) B9 (3) S (4) T fyea
Name the country to which the ‘Arewa’ company supplying uranium to the Jaitapur
Atomic Power Project belongs.
(1) U.S.A. (2) France (3) Germany - (4) Great Britain
7. e anfyrar frer @l Sivre SumMe) 9R w7 _
(1) 9A (2) =@HF (3) T4 . (4) HRd
In which country were the first Asian Games held ?
(1) Japan (2) China (3) Singapore (4) India
8. 2009 WE R UM UG HYFM V[ AFIEE faer e ?
(1) ®HAR (2) = (3) ferferan (4) el
Name the country that preferred democracy over dictatorship in the year 2009.
(1) Myanmar (2) Bhutan (3) Libya ‘ (4) Sri Lanka
9. YAl ST AR HY RO TG o W ?

(1) fafdt 3w g atherd
2 fofiel oifs 3o ave el SeTher
3) fafgt sie ggaa fad Sxawie
Ty fafd
Which of the following ministries carries out the work of Indian Census ?
(1) Ministry of Home Affairs '
(2) Ministry of Health and Family Welfare
(3) Ministry of Human Resource Development
(4) Education Ministry
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10. # <R FET WREE GaSuHEEET e .
(1) 1977-78 (2) 1987 -—88
(3) 1989-90 (4) 1990 -91
Shri Chandrashekhar was the Prime Minister of India during
(1) 1977-78 (2) 198788
(3) 1989-90 (4) 1990-91
1, s fEm __ 9 mv@ 990 e sl
(1) vaiE e 2) T fe
(3) wERe f (4) wfgar f&
The 5™ of June is celebrated as
(1) Environment Day (2) Teacher’s Day
(3) Literacy Day (4) Women’s Day
12,

7 G 2011 TSt TR SiFeewie Sae IRAHA I8t HoT 2

1 = A (3)

(2)

et (4) dErTg

Name the city where the powerful bomb blast occurred on 7t September 2011.

(1) Mumbai (2) Hyderabad (3)

Delhi (4) Chandigarh

13.

NPT Weliotsl S0 ©e RSN Shifas aRdl e R Huid Sod 7787 7

(1) =g Aof
(3) oAU foamsi g

(2)
(4)

Telther ofoit
HRERYaT

Which of the following places of Maharashtra is not declared as a world heritage site

by UNESCO ?

(1) Ajanta Caves (2) Elephanta Caves

(3) Chhatrapati Shivaji Terminus (C.S8.T.) (4) Mahabaleshwar
14. ‘T ¥ 218 @ A9 FIEN Hadiq o ?

(1) I (2) &Y=

(3) &S (4) vaH

The expression ‘Dong Feng 21D’ is related to

(1) Satellite (2) Missile

(3) Weapon (4)

Atomic weapon
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15. MKCL =7 YAAYS HENIPTE A g e Svar | aifus e

el SR

(1) DTH (2) ETH

(3) STD (4) s A&

branch of MKCL has facilitated computer education in Maharashtra.

(1) DTH (2) ETH

(3) STD (4) None of the above
16. 5 Sgard 2011 W scamyfa ‘W-130 effae B fomm wmam diorr SwrRgd W& Fa

AR 2
(1) S (2) Wrn (3) 3JULE.T. (STARET) (4) 94

From which country did India buy, on 5th February 2011, the latest aircraft ‘C-130
Hercules’ ?

(1) England (2) Russia (3) U.S.A. (4) China
17. 3@ 7 froer disman am Svaedt aaR e 3w R see s ?
(1) 60 (2) 65 (3) 58 (4) 55
What is the lower age limit for a person to get the benefits under the Indira Gandhi
Niradhar Yojana ?
(1) 60 (2) 65 (3) 58 (4) 55
18. WENERIA 16 Negamea fidl TW <ey ®99 FXogrET i TSaeaaE §<at 2011
e SR hell ?
(1) 15 (2) 30 (3) 40 (4) 45
How many Rural Courts (Gram Nyayalayas) are to be established in the 16 districts
of Maharashtra as per its declaration in September 2011 ?
(1) 15 2) 30 (3) 40 (4) 45
19. 20108 T TS aY R SEN SO A IR
(1) wfger &y (2) WA WO Ay
(3) Sy stafafrEar o (4) TEvEER frd o
The year 2010 is declared by the UNO as the .
(1) Year for Women (2) Environment Protection Year
(3) International Biodiversity Year (4) Anti Terrorism Year
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20, TRAE HfauF=T 113 S AeAGERIAY U [N AE SEAvde A ?
(1) fasr @) offmm
(3) W W (4) STRUTE WU
By the 113" Amendment of the Constitution of India, the name of which State has
been changed ?
(1) Bihar (2) Orissa
(3) Madhya Pradesh (4) Arunachal Pradesh
21, 9 2010 - 11 WA STERGMENRT T <IN TETEAN Bl A Ao wafaeg
hidt get.
(1) femitan (2) i (3) 3= (4) @A
The people of revolted against the regime of the President Hosni Mubarak
during 2010 - 11.
(1) Libya (2) Tunisia (3) Egypt (4) Serbia
22. T 2010 Wil IR feffeFa W AT der AE FA IR 7
(1) o (2) 3fea (3) et (4) TegwH
What is the name of the base camp established by India in Antarctica in 2010 ?
(1) Bharat (2) India (3) Bharati (4) Hindustan
23, Ve v Par’ & dew s fafaw S e I
(1) HHES (2) s
(3) ¥R fqwas (4) YU fawash
‘Standard and Poor’s’ institution decides standard/rating of the various
countries in the world.
(1) Social (2) Economic
(3) Corruption (4) Pollution
24, FEEERA TALHE. T IS S TE dell ?

(1) 6 e/ 2011 (2) 10 A9 2011
3) 5 T¥A 2011 4) 10" 2011
When did the Central Govt. pass the CRZ Act ?

(1) 6 January 2011 (2) 10 March 2011
(3) 5 April 2011 (4) 10 May 2011

o] SR ST / SPACE FOR ROUGH WORK
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25.

8 A

‘e’ & GEAUE I 07 RS 2011 Ut FuT w7
1) fe=mw (2 fe= M= (8) S%a 3N (4) fogemnt
The founder of ‘Apple’ passed away on 07% October 2011.
(1) Stevenson (2) Steve Jobs (3) Jacob Oram (4) Spielberg

26.

TERIPIE qfEe qg-% I FOR 2

1) i (2) Hag 3 ™ (4) AR
Which is the first ‘Wi-Fi’ city of Maharashtra ?

(1) Nashik (2) Mumbai (3) Pune (4) Nagpur

27.

(1) 1992 (2 1979 (3) 1984 (4) 1989
In the year the National Commission for Minorities was set up for protection

of minorities.
(1) 1992 (2) 1979 (3) 1984 (4) 1989

28.

HTH TEAGERT TR UEEd TS A gl 509% S Qua e ?
(1) 109 fa (2) 110 fa
(3) 111 fd 4) 112fq

By which amendment has 50% reservation been provided to the women in Panchayati
Raj Institutions ?

(n 109** Amendment (2) 110t Amendment

(3) 111" Amendment 4) 112*" Amendment

29.

w1 WA /7

(1) Portability (2) Fast Net -3 2G 4) 3G
What facility speedily transfers/transforms voice, data and video in a mobile phone ?
(1) Portability (2) Fast Net 3) 2G (4 3G

30.

TAAlE B A0S SfEeEE TS AR FaERear T qeis R e
e ?

(1) . foer FHE 2 fag @iEw

(3) o Acd (4) FgAES (fa.ar. fraE)

Who is the first recipient of Gyanpeeth Puraskar in Marathi language ?

(1) Vinda Karandikar (2) V.S. Khandekar

(3) Anand Yadav (4) Kusumagraj (V.V, Shirwadkar)
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64 + 36 .
31, — "+ fFud )
0-64+0-36 311%
(1 (2) 10 (3 100 (4) 1
100
The value of M 18
0-64+0¢-36
1
1 1 (2) 10 3) 100 - 4) —
) (3) (4) 100
|
82, 9+— T i fEma ae. J
1
09+ —
9+1
(1) 10 2y 010 3) 0 4) 9
1 .
The value of 9+——1— 18
09+ —
9+1
(1) 10 (2) 010 (3 0 4 9
33. n,n+23‘ITﬁTn+4EEIT§8ﬁ'@JT FHAIT W
() n=2 (2) n=3 3) n=5 4) n=6
The nombers n, n + 2 and n + 4 are all primes if
(1) n=2 (2) n=3 (3) n=5 (4) n=6
3-75 -
34, 075 =
(1) 0-005 2y 05 3y 5 (4) 0-05
375
Divide 075 = e
(1) 0005 (2) 05 (3) 5 (4) 005
35. 3 hgail 1997 9 2 aeEX 1997 Td fhdt fGaw a2

(1) 243 (2) 241 (3) 242 (4) 240
How many days are there from February 3, 1997 to October 2, 1997 ?

(1) 243 (2) 241 (3) 242 (4) 240
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36, W l=m=n=rz0 T GEAIF Faid A1 YUis Homr ?

a. ‘ b =2 c. — d =

7 11 5 3

(1) a (2) b . (3 ¢ (4 d
fl=m=n=r# 0, then which one is the largest fraction of the following ?

e L h 2 c. 1 d =

| o1 "5 B

(1) a 2) b 3 ¢ (4) d

87. W x=-3 Wd W Grid e fHua e 2

(x - 3)2
(-3x2 +x-5)
L o @ -1 @) - g—g @) %
If x = -3, then the value of the following expression
2
(x-3) is
(-3x2 +x—5)
36 36
(1)_ 0 (2) -1 3 - 36 (4) 35
38, uEa :
(16 + 4) + 4{1 + 2(6 - 3) — 4(3 — 2)}
(1) -4 @2 1 .3 4 4 0
Simplify : |
(16 +4)+ 41 + 2(56 — 3) — 43 - 2))
1) -4 (2) 1 3) 4 ) 4 0
39. Ffam smm ww.
2=+ ..+ 1l = 5l
6 4
1 5 3 1
(1 2Z (2) lz (3) IZ 4 lg
Fill in the blanks.
2-1-+...+1l=5l
3 6 4
1 5 3 1
(1) 22 (2) IZ (3) lz (4) lg
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40, [@mr SPm .
5 . [1 1]
S|+ 2=
6 2 3
) ‘
(1) 3 2y 1 (3) 2 (4 3
Fill in the blanks.
5 | [1 1]
— 4+ =+ = =...
6 2 3
1
(1) 2 2 1 3) 2 4) 3
41, R UF 399 T 720 O (RIS 20% TH FeA W TAE WS a2
(1) T 576 (2) T 550 (3) T 600 - (4) T 620
If a table sold at ¥ 720 earns a profit of 20%, then what is the purchase price of the
table ?
(1) T 576 (2) T550 3) T 600 (4) T620
42, Tt srm .
3,9, 6, 15, 45, 30, 75,
(1) 275 (2) 105 (3 135 _ 4) 225
Corﬁplete the series
3, 9, 6, 15, 45, 30, 75,
(1) 275 (2) 105 (3} 135 (4) 225
43. TEH WHT 10% A O 99 Thaesars ¢ 210 38 o o W Rt s/ ?

(1) T 2000 (2) T 1000 (3) T 2100 (4) T 1021

The compound interest at the rate of 10% for two years on a certain amount is T 210.
The amount invested is

(1) T 2000 (2) T 1000 (3) T 2100 (4) ¥ 1021

Tl HEMES! FARN / SPACE FOR ROUGH WORK
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44, TeeTet ond sroEEw Il ST MR W fEA K STewEl w2
(1) wEe | (2) 3T
(3) 3% (4) FE
Dilip’s mother is Alka’s father’s sister, then the relation of Dilip’s mother to Alka is
(1) Mother’s sister (2) Parental aunt
(3) Mother (4) Uncle’s wife

45. 50 T 30% U 42 I TF TBH WS

(1) 2209 11% (2) 1000 ¥ 12%
(3) 110 ¥ 20% (4) 2000 ¥ 11%
30% of 50 plus 1/6th of 42 equals

(1) 11% of 220 (2) 12% of 1000
(3) 20% of 110 (4)  11% of 2000

46. 12 +[25 — {25 — (25 — 12)}] =

(1) 25 (2) 50 (3) 12 4y 0
12 + [25 — {25 — (256 — 12)]] = '
(1) 25 (2) 50 (3) 12 4) 0

47, @ feotear awrear Mo (] 91 SR S0 S SrdeT wiEs 2

2 5 8 '
1O o9
o O s
0 5 5
(1 7 (2) 6 (3) 4 (4) 3
In the addition given below, the digit in the place of [] is
2 5 8
1O 9
Yo O s
Ll 5 5
L 7 (2) 6 3) 4 (4) 3

o] HHD) IR / SPACE FOR ROUGH WORK
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48. U= guia 20 fawrdl oRd & @l FUEd I 105 T MR, 120 T TURG I STHAN
et 10 faameAit = aula WSer Shen. ST g fomreatst gl I w9 s 2

(1) 100 &4 (2) 110 T (3) 120 T (4) 115 ¥4

There are 20 students with an average height of 105 ¢m in a class. Then 10 students

with an average height of 120 cm join the class. What will be the average height of
the class now ?

(1) 100 em (2) 110 cm (3) 120 cm (4) 115 cm

49. TS M P fET F 2

5| P
8
2 16
6 (20
(1) P=21 (2) P=28 3y P=24 (4y P =27

What is the value of ‘P’ in the following circle ?

A
NGy

(1) P=21 (2) P=28 (3) P=24 4y P=2

-1

50, el feord e vl dva vafa fraga oof &v -
1, 1,2 3,5,8,13, ..., 34
(1) 19 (2) 20 3) 21 4) 23
Complete the following sequence of numbers by choosing the correct alternative :
1, 1,2, 3,5, 8, 13, ..., 34

(1) 19 (2) 20 3) 21 (4) 23

o SIS 3T / SPACE FOR ROUGH WORK
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5I. W (+) B (-) -
(- B (x)
(+) B (+)
(x) BUR (+)
WMI0x5+-3-2+3=..
(1) 5 2) 7 (3)

If (+) means (-)

(4) 9

w| oo

(=) means (x)
(+) means (+)
(x) means (<)
Then 10 x5 +3-2+3=..
D 5 @ 7 3) % @ 9

52. S wHA Jur o9 3wl a0S 15 AR W e Wl 3 9 FE A3 2

(1) 16 (2) 25

(3) 36 . | 4) T HowEE @

If the sum of three consecutive numbers is 15, what is the square of the middle
number ?

(1) 16 (2) 25

(3) 36 (4) None of these

53. gl fedl FeRivr sRd ?

(1) 13 (2) 9 3y 12 (4) 10

How many triangles are there in the figure ?

(1) 13 2 9 (3) 12 4) 10

ol HFNIS! 3T / SPACE FOR ROUGH WORK
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TF augEl N 99 foem qerew agrer dive @, wel avAw fae @9 garen saren
U 5 AN S A SWE. W A WA 991 Ui & I8 ?
(1) 4322 (2) 22:3 (3) 23:4 4) 25:7

One year ago, a mother was four times older than her son. After six years her age
would be 5 years more than double of her son’s age. The present ratio of their ages
will be

(1) 43:22 (2) 22:8 (3) 23:4 4) 25:7
55. 3 HIET ARY 1200 IRY THS AW TH THEIr) et fHet ?
(1 025¥". (2 0-025 V.. (3) 258 4) 2259,

56‘

If a 3 meter long wire is cut into 1200 pieces equally, then what is the length of one
piece of wire ?

(1) 0-25 cm (2) 0-025 cm (3) 2:5cm (4) 2-25 cm

mpmmm%w%,Qmmea%,PﬁgwﬂRﬁ%Tvﬂwaﬁéw%_,
M 37foT S g Wfgeh sRd ) S ¥ Q ¥ AN ey @ WA ?

(1) o (2) TE (3) W ' (4) wfgo

If P is the brother of M, Q is the son of M, R, the daughter of P is married to T, M
and S are sisters, then how is S related to Q ?

(1) Mother (2) Aunt (3) Wife (4) Sister
57. 119 30 I GEEmed favm der 9 fad 7 |

(1) 250 (2) 300 (3) 200 (4) 325

What is the sum of all the odd numbers from 11 to 30 ?

(1) 250 (2) 300 (3) 200 ' (4) 325
58. SR GOOD @ ¥ IMQB 1 ket fodien <, @ BEST 1 Wi El

(1) DCQR (2) DFUV (3) ZGUR (4) DCUR

If GOOD is coded as IMQB, so BEST is coded as.

(1) DCQR (2) DFUV (3) ZGUR (4) DCUR
59. 47 * 53 T YA * oA VNN WG 37 WA WU diew 9 4 qui W A ?

(1) 9 (2) 6 : 3 0 4 8

What should replace * in the figure 47 * 53, so that it is divisible by 9 ?

(1 9 (2) 6 3 0 4) 8

W] SHETEIS! PN / SPACE FOR ROUGH WORK
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60. S 768123 = PRINCE, ™ 1823 = ...
(1) RICE - (2) PINE (3) CINE (4) NICE
If 768123 = PRINCE, then 1823 = ... :
(1) RICE (2) PINE (3) CINE (4) NICE
61. SR p 3T g = WALFL x AR AT q = xy W p M q o FH.f3 T 3@d ?
(1) xy (2) py (3) ay (4) pq
If HC.F. of p & q is x and g = xy, then what will be LCM. of p & q ?
(1) =xy (2) py (3) ay 4) pq
62. WENEEA, ToUGl M IR greanie WEREEY QIR HUCT A g
ader ?
a. b. c. d.
(1) a (2) b @) ¢ 4) d _
Which of the following diagrams best depicts the relationship between
Maharashtrians, Gujaratis and Indians ?
a. b. c. d. :
(1) a (2) b 3) ¢ (4) d
63. T& FR 3 A 105 .. 3R @ W = I 5 aad Al iR TEe ?

(1) 160 f®d. (2 175 f&h. (3) 125 1. (4) 150 f.1.

A car travels 105 km in 3 hours. What distance will it travel in 5 hours at the same
speed ?

(1) 160 km (2) 175 km (3) 125 km (4) 150 km

TA! SHENTS! 3T /| SPACE FOR ROUGH WORK
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64, UMY WAIT ANEA MG HHET QU F,
SINS ] 2

%% %%
b.

a. d.
(1) a (2) b 3) ¢ (4) d

Complete the following series by choosing the right alternative,

NERNRE
O

a. b. e d.
(1) a (2) b 3) ¢ 4) d

W.%H. 65 AT 66 WA ATGET NG T,
el Jare@ $ARd SiuarT wereen fafay aeiede @+ gvifaar

W ARG ST TR @9 2 5,40,000 S T @Rl YYEE W .

Q. No. 65 and 66 are based on the following pie-diagram.

The following pie-diagram shows the expenditure on various items to construct a
building :

Payment
of workers

Wood

If the total expenditure of construction of building is ¥ 5,40,000, then answer the following
guestions.

TocdT BHES! T / SPACE FOR ROUGH WORK
P.T.O.
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65. N SEIG Fald & @ Feer AR 2

(1) TR @S (2) WS (3) faeg (4) fadie
On which item is the expenditure the least ?
(1) Building Wood (2) Steel (3) Bricks (4) Cement

66. HUH TEIE FEd SR @9 el AR 7

(1) =l (2) TARA %€

3) faie (4) <ES

On which item is the expenditure the highest ?

(1) Payment of workers (2) Building Wood
(3) Cement (4) Steel

67. S FEren 99 @ Aw o9 ¥, 12 WAl s 15 9 e W e faves

fHezan.

(1) 54 @A2  (2) 57 (@AY (3) 59 (WAL (4) 61 (A1)
Find the area of a triangle whose sides are 9 e¢m, 12 cm and 15 cm.

(1) 54 (cm)?®  (2) 57 (cm)? (3) 59 (cm)? (4) 61 (cm)?

68. X, Y 3T Z T T 4900, T 6300 AT T 7000 THH ANHA Tafael. T X T T 749 AH
faeren W Z o St f73d ?

(1) 7963 (2) T 1070 (3) T 2140 (4) T 2782

X, Y and Z invested ¥ 4900, T 6300 and ¥ 7000 in one and the same scheme. If X gets
T 749 as profit, then Z will get

(1) T 963 (2) T 1070 (3) T 2140 (4) 2782

69. WX 7 TEAY TUIRK 2 : 3 TR, U7 e anid 09 468 IR W I QAT 37 w0,
(1) 12,14 (2) 10,18 (3) 10,12 4y 12,18
Two numbers are in the ratio of 2 : 3. If the sum of their squares is 468, find them.
(1) 12,14 (2) 10, 18 (3) 10,12 (4) 12,18

70. S a, b, ¢, d 3T ¢ B 99 HAA JUR fomy 3w R R o w0Ed FF Azd ?

1) b (2) ¢ 3) d (4) a
If a, b, ¢, d and e are five consecutive odd numbers, then their average is
(1) b (2) ¢ 3y d (4) a

oAl SIS 3 /| SPACE FOR ROUGH WORK
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71. TENE TS YyEard fawmma fawmmht @t ot
(1) 6 2y 4 3) 7 4y 9
Maharashtra State administration is divided into divisions.
(1) 6 (2) 4 3 7 (4) 9
72. WU USR FIGAT WONG AR ?
(1) JUSdEr (2) 9fyew TR
(3) faed (4) TS
The Manjara plateau lies in which region ?
(1) Marathwada (2) Western Maharashtra
(3) Vidarbha {4} Khandesh
73, 9% 9 AicE § IR TOoUN THE SgA AGAGSE! YIEd AUHHA AievEn ST
U] —
(1) o 7 FR AR ) Tk 3 TR TEe SR
(3) =tw 9 v & @ (¢ TR AT 2
Mumbai and Nanded cities are almost around the same latitude but Mumbai has
lower temperatures than Nanded because —
(1) Mumbai is a port (2) Mumbai is situated near the sea coast
(3) Neither of the above (4) Both the above (1 & 2)
74, TS 3FEA @E tE 53 feurd amed ?
(1) i (2) TSR (3) ¥R (4) @R
Bhamragad hills are located in
(1) Aurangabad (2) Gadchiroli (3) Chandrapur (4} Nandurbar
5.

PAT HHTS! FINN /| SPACE FOR ROUGH WORK

(1) 833 (2) 933 (3) 922 {(4) 950

According to the Census 2011, the sex ratio of Maharashtra is 925 and the ratio of
girls to boys is

(1) 833 (2) 933 (3) 922 {4) 950
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76.

20 A

T 39 gevm fegamel s (A @ ?) iR weifts i e 2
(1) FieEg (2) HEW @) (4) M

Which of the following districts records the highest summer (March to May)
rainfall ?

(1) Kolhapur (2) Satara (3) Pune (4) Thane

77.

Trede 9 BRI SO AT ?

(1) TERPHA TEYT M Aeuedial 60% M 49X feeam W
(2) W& SErE e ywie) e 39

(3) AR did YEAM deH WA e Sd @

(4) W FEEE THT 9T S

Which of the following statements is not true ?

(1) Sixty percent of the total Gond population of Maharashtra lives in Chandrapur
district.

(2) All tribes believe in religion.
(3) Tribal people mostly live in small regions and small houses.
(4) All tribals speak the same language.

78.

Telie I Fown dxEt weitts TSt dig @ ?
(1) aof (2) oa (3) 3m (4) TR

Which of the following centres records maximum rainfall ?
(1) Harnai (2) Vengurla (3) Thane (4) Ratnagiri

9.

it 2 AR g e AT 2
(1) IEFETR SHTEE e Mar g,

(2) STEHCR WENIYTET Haiq #Ael fieqm TR,

(3) IEETR UIrAl Ta IR,

(4) FEHETR U3 TEK ST

Which is the totally correct sentence out of these ?

(1) Ahmadnagar is larger than Aurangabad.

(2) Ahmadnagar is the largest district in Maharashtra.
(3) Ahmadnagar is near Pune.

(4) Ahmadnagar is a big city.

T SRIETS) I / SPACE FOR ROUGH WORK
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80. FENIPHIS Haiq Aed oAl 76l HIU ?
(1) (2) TherEd (3) Fom (4) auf
- Which is the longest river in Maharashtra ?
(1) Bhima (2) Godavari (3) Krishna (4) Wardha
81, I N HUEH o WA
37 g
IR -
¥ feEe i EEEY
q.  FA i, 3TEAGI
¥ &R i, AT
. T iv. J9q9ies 9 ARE
(1) 3, o-ii, F-iii, S-iv (2)  3F-iv, T-iid, H-ii, -
(3)  3-ii, d-iv, *h-iii, €-i (4) -1, 9-ii, H-iv, B-iii
Match the following :
A B
Sanctuary Place
A.  Kinwat i.  Kolhapur
B. Karnala’ ii. Ahmadnagar
C. Rehekuri iii. Raigad
D. Dajipur iv. Yawatmal-Nanded
(1) A, B-ii, C-iii, D-iv (2)  A-iv, B-ii, C-ii, D-i
(3)  A-ii, B-iv, C-iii, D-i (4)  A-i, B-ii, C-iv, D-ii
82. WAW U9 FIear fSega wald FHI FET AR ?

1) R (2) Ho§ ITFR

(3) SHMEY (4) ST

Which of the following districts has the least area under forest cover ?
(1) Latur (2) Suburban Mumbai

(3) Osmanabad (4) Jalna

Hoed] SRS S / SPACE FOR ROUGH WORK
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88.

22 A
e ot v T TR A YT S Ued uiyedse | 2

(1) o, wifa, Hes (2) Wi, ¥}, SR

(3) w1, firem, Fefem (4) Wi, I@E, MeEd

Which of the following groups of rivers originates in the Western Ghats and
flows westward ?

(1) Tapi, Savitri, Kalu (2) Savitri, Kalu, Ulhas
(3) Kalu, Girna, Kundlika - (4) Savitri, Ulhas, Godavari
84, e 19 & UPHE IuW faed fawma Aea Tt ?
(1) TamE (2) TS
3 = () at@ i Soed T
Which of the following National Parks is not located in the Vidarbha region ?
(1) Navegaon (2) Gugamal
{(3) Pench (4) None of the above
85. WENET &H qrEErEn fegr Howr ? ‘
1) e foeg 2) T foeE
(3) xR foremm ) ==
Which of the following districts has low rainfall in Maharashtra ?
(1) Nashik District {(2) Pune District
(3) Chandrapur District (4) None of these
86, WE I F3ou fogarr aiet Tg ImArY wEw @7 Tt ?
(1) weR (2) W (3) wEE (4) T
Which of the following districts is not included in the Chandoli National Park ?
(1) Sangli (2) Satara (3) Raigad @ Ratnagiri
87. TMeEd g W AGE G Fv gdd U AR @relt oM ?

(1) 9T (2) Ffar

(3) FUvER-AIemEE (4) AT

Which of the following mountain ranges divides Godavari and Bhima river basins ?
(1) Satmala . : (2) Ajanta

(3) Harishchandra-Balaghat {4) Gawilgad

e BHTAS! 3 / SPACE FOR ROUGH WORK
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T e e IR FHUI WAl el Yed Hivir 2
(1) YOI ST | 2 &=
(3) 3IgAm (4) RIS
Which is the main factor affecting the location of the rural settlements ?
(1) Availability of water (2) Minerals
(3) Industry (4) Transportation

89.

90.

91.

mwwwﬁawmﬂaﬁw%waﬁww‘%}m
1) ' @ (2) W
(3) Fi (4) T A

Maharashtra State alone has nearly 40% of India’s stock of which of the following
minerals ?

(1) Iron ore (2) Manganese
(3) Coal - : " (4) None of these
wrefer 15 F3eu Fiegd AN @reEe eifus 8T R ?
1) T (2) TITE (3) faygd (4) @
Which of the following districts has the maximum area under coconut plantation ?
(1) Ratnagiri  (2) Raigad (3) Sindhudurg (4) Thane
Sed Je A ¢

o T
o, faggd i, Wt
7. Hag i, oftdl @l Wi
T TSRE iii, T _
g 3 L iv. s
(1)  HA-iv, 9-i1, &-i, S-iii (2) i, 9-i, $-iv, S-ii
(3)  3-iii, &-ii, F-iv, T-i (4) i, I-i, F-iii, B-iv
Match the following : '

A B

A. Sindhudurg ‘ i. = Petroleum/mineral oil
B. Mumbai ii. Mineral water
C. Gadchiroli iii. Manganese
D. Thane 7 iv. Limestone
(1)  A-iv, B-ii, C-, D-iii (2) A-iii, B, C-iv, D-ii
(3)  A-iii, B-ii, C-iv, D-i (4)  A-ii, BAi, C-iii, D-iv

ol HHES! 3TN / SPACE FOR ROUGH WORK
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92. -gER faeam fa-1ey i fad o 2
(1) 937 (2) 960 (3) 975 (4) 935
In Nandurbar district the male-female ratio is
(1) 937 (2) 960 (3 975 (4) 935
93. Uy weEd weEE fag FR St RS 9 W A AEd ?
(1) o= wie (2) T e (3) A 9= (4) 3T 9T
Which major pass in the Western Ghats connects Konkan with the East ?
(1) Amboli ghat (2) Fonda ghat (3) Bor ghat (4) Amba ghat
94, TRNEG Tafqs dAbae ae 8 T SO i Aiedivard st
(1) 1971 (2) 1981 (3) 1991 (4) 1961
The maximum growth in the population of Maharashtra was reported in the
census.
(1) 1971 (2) 1981 3y 1991 | (4) 1961
95. TERIETE HIUR WA JHE IR 2
(1) TEg WENPT RN AR
(2) T YU WENPEA U= R
(3) foer vda werwTen SRavien oM
@) 07 4 wd
Which statement is wrong about the boundary of Maharashtra ?
(1) Gujarat is North-East of Maharashtra
(2) - Madhya Pradesh is to the West of Maharashtra
(3) Vindhya mountain is to the South of Maharashtra
(4) All of these
96.

gree 1 g sged Suw o fieem oeed gl ?

(1) e’ 2 Tie (3) HER i (4) FE
Which of the following Scheduled Tribes is no¢ found in the Thane district ?
(1) Warlt (2) Gond (3) Malhar Koli (4) Korku

ST GIETITS! ST / SPACE FOR ROUGH WORK
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97. WA HY 9RO .
(1) fomr iR sger
(2) % vdumy gt
(3) WX 9 HogaX aea!
(4) o fa wd

As a result of migratiord there is a

l(l) change in the sex ratio

(2) change in the economics

(3) change in the birth and death rates
{(4) All of these

98. WA I Fooar el TRRGT R @ WAl FH AR ?

(1) T (2) fEmen

(3) ¥g@EKR (4) GO

Which of the following districts has the least literacy rate ?
(1) Gadchiroli (2) Hingoli

(3) Nandurbar (4) Parbhani

99. TERETT FIUAT FEARA Te ffed ?

(1) " 3R (2) NN &R
(3) W=l ar (4) ¥HE &R
Which winds give rainfall to Maharashtra ?
(1) Mongoon winds (2) Trade winds
(3) Anfifrade winds (4) Local winds

100, YT ~ Tl el & 1T ST,

b (O T (2) F
(3) (4) Wy
The Devrukh — Kolhapur Highway passes through the ghat.
(1) Gaganbawada ghat (2) Kundi

<3 (3) Kolamba (4) Varandh

T MRS S0 / SPACE FOR ROUGH WORK
P.T.O.
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101, -Hiigdi=ar AT FEe FavaH @ielicds! HIve 9 i e ?

(1) <. 37 @) afefear

(3 JUET (3fE) - (@ fa=a

Name the country in which the Right to Information Act first came into being.
(1) South Africa (2) Australia

(3) USA {4) Sweden

102. AfEdan sfteR afafa TaR Aease adEfa G JeEi ol S T

argdi.
(1) THaT e (2) FENT IuTeHE
(3) @IS HAt (4) daNEH

In case of matters connected thereto or incidental thereto Lok Sabha i.e. House of
People the ‘competent authority’ is

(1) The Speaker of Lok Sabha (2) The Deputy Speaker of Lok Sabha
(3) The Law Minister (4) The Prime Minister

103. S Tifitaeel wiedl, warn = Sifaq a1 @ 91 Seuda o899 W, faddar o

fregreamargs _ e aa dt aifedt, uaE e

1 QAW fEw (2 48T (3) 24 T (4) 6TW

Where the information sought for, concerns the life or liberty of a person, the said
information shall be provided within time. |

(1) two days (2) 48 hours: (3) 24 hours (4) 6 hours

104, WiAAdd! St wigeh He F0 FUTFRE TET 2
Q) TRt wreAwgn favamgds frecet migd
(2) wmwmmmwmm%mm
@) St ¥ ITANS S SN BN ofEl Wifewt .
(4) TR wd .
Which of the following informations is not open to disclosure under the RTI Act ?
(1) Information received in confidence from a Foreign Government

(2) Information which would cause a breach of privilege of Parliament or the State
Legislature

(3) Information, the disclosure of which may constitute Contempt of Court
(4) All the ahove

ol SWIETSY S / SPACE FOR ROUGH WORK
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108, Y% Hifect 3Tgeh, TeHRUTEAT AR WA auia HEAEE HRA IS ]
T FH{.
1) 10 (2) 2 3 7 4) 5
Every Information Commissioner shall hold his office for a term of years
from the date on which he enters upon his office.
1y 10 2 2 @3 7 4) 5
106, & Wfgd gE T Mfge A Fefata Soar e, e =1
- 997 WE FREE S A
(1) W& e (2) YawuH
(3) fraevm sgw 4) fRe w7
The President, before suspending the Chief Information Commissioner or the
Information Commissioner, shall refer the matter to and act upon its
report accordingly. )
(1) The Supreme Court (2) The Prime Minister
(3) The Election Commissioner (4) The Leader of Opposition
107, T3 H&F Wifedt STR[ETR § U9 Hifed! sgaart e qeg daien aemm @l w6
e AR ¥l T,
(1) A (2) Vg
(3) TsuiA (4) faum w7
The State Chief Information Commissioner and the State Information Commissioner
is appointed by ____ on the recommendations of a committee chaired by the
Chief Minister,
(1) Prime Minister (2) President
(3) Governor (4) Legislative Assembly
108. ¥t afect T fhar Tow Mg STENTE RO SR SwE FEE 2
AR el Fog| JA e,
(1) R = (2) wiF e (IEA F12)
(3) 9 Hed (4) feamit =
The Central Information Commission or the State Information Commission have the
powers of a _ while enquiring into a matter,
(1) Criminal Court (2) Trial Court
(3) Sessions Court : (4) Civil Court

e B! SR / SPACE FOR ROUGH WORK
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109. A 7 g A oterEr UsT & Wifgdt s g favfan faeg feawma
fee HTar 2.
(1 20 (2) 30 (3) 40 ' (4) 60
The period of appeal against the decision of the Central Public Information Officer or
the State Public Information Officer is of days.
(1) 20 (2) 30 (3)y 40 - (4) 60

110.

ISIEE HIUTE THTH Al HY FHY TEECR FESE NS AR v R
v SR ST,

(1) HXT Tifeet @/ T Tifged 3ET
(2) TSF 9 Hifgeh A

(3) FAA 5 wifE awE

(4) THTA

The is empowered to make the public authority compensate the
complainant for any loss suffered.

(1) Central Information Commission / State Information Commission
(2) State Public Information Commission

(3) Central Public Information Commission

(4) Governor
111, wfgdt sfeR sfufmmamr T HER IR
(1) 29 (2) 30 (3) 31 (4)y 32
The Right to Information Act contains in all sections.
(1) 29 (2) 30 (3) 31 (4) 32
112, wigdt o iR sifufram @t migd ArvamEr sfsR S amR 2

(1) fadeht e (2) WE IRAG ARF

(3) T WP @ 4) aRe wEt

Who has the right to seek information under the Right to Information Act ?
(1) A foreigner (2) All citizens of India

(3) Ambassadors of other nations (4) All the above

oAl BHEIS! FF / SPACE FOR ROUGH WORK
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113. ¥z §@R gR WU [aar g g SueAn Aigdan siyer stufm ar @, Wiy
3 TAE A
(1) 45 (2) 30 : (3) 25 (4) 20
Although the Right to Information Act is not applicable to the intelligence and security
organisations established by the Central Government yet, information pertaining to
human rights violations has to be imparted within days.
(1) 45 (2) 30 (3) 25 (4) 20
114. TfEd fyar sfafrm @ o e IREIRgA Avild aul qEfEr e
RT3
(1) 35 (2) 30
(3) 25 (4) 20
An applicant can seek information relating to an occurrence or an event or a matter
which has taken place years before the date of application.
(1) 35 (2) 30
3y 25 4y 20
115, U9 & Alfec T M9 YSET o TS T IIA 2w
1) gy
(2) THUA
(3) HE g wied g
(4) e

The State Chief Information Commissioner shall address his resignation in writing
to

(1) The President
(2) The Governor
(3) Central Chief Information Commissioner

(4) Chief Minister

WeEgT TS S / SPACE FOR ROUGH WORK
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116. i AgArETl ATl Twede hasial qUNd hefl el
(1) I TEE | (2) SIS ARE
(3) fomr TE= (4) ST
Under the leadership of the Primitive People (Adivasis) defeated
Lieutenant Kennedy.
(1) Uma Naik (2) EKhwaja Naik
(3) Bhima Naik (4) Kazi Singh
117. 3% vivoren fagia wigd fofey wonfws affs W S gegq s 2

(1) fRSWE A (2) WeRE MR T
(3) TRE FHeH (4) TS TOY IHER

Who put forth the Economic Drain theory causing economic awakening against the
British Government ?

(1) Ferozshah Mehta (2) Mahadev Govind Ranade
(3) Dadabhai Naoroji (4) Gopal Ganesh Agarkar
118. I TH S AT WE9 SUAEe! sAResdadr sawed oo o e adt
STUATIEA WgH Fel.
(1) T % (2) @ e
(3) fafaem &% (4) T T=W TaEEA
gave a woman travelling expenses upto Banaras to discourage her from
Sati tradition and succeeded in his attempt,
(1) Grant Duff (2) Lord Wellesley
(3) William Bentinck (4) Henry Dundas Robertson
119. JRAGSFH, AU WE, TEAU AER A 3E. 1874 Gl g R gE
e,
(1) UEfEe de (2) R Wed e
3) T Afew sEEgE (1) fe¥= My fime

was started in 1874 by Vasudev Phadke, Vamanrao Bhave and Laxmanrao
Indapurkar.

(1) Ekyawardhini Sanstha (2) Bramho Postal Mission
(8) Poona Native Institute (4) ' Depressed Classes Mission

T=AT BHRTS! STFT / SPACE FOR ROUGH WORK
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120. memwwgmwww
T R ?
(1) AR (2) A
(3) HHRL . (4) FEARRT
Name the newspaper started by Vishnushastri Chiplunkar which substantially
contributed to the social reforms in-Maharashtra.
(1) Gyanprakash (2) Gyanodaya
(3) Prabhakar _ (4) Induprakash
121, Gl spft SvaUeh o & Siwom &ih ded 2
(1) fadEn O (2) R T
(3) I sgIgl el (4) fores 9EE
Who raised the slogan ‘All land belongs to God’ ?
(1) Vinoba Bhave (2} Mahatma Gandhi
(3) Lal Bahadur Shastri (4) Vinayak Savarkar
122, 3.9 18549 I gad 39 ufeeh Fet ol gE S
(1) HEFst g’ (2) W RN 99
(3) HRIS Mpeerd (4) femem ¥ee
In 1854 started the first cotton mill in Mumbai.
(1) Kawasji Dawar (2) Sir Mangaldas Nathubhau
(3) Morarji Gokuldas (4) Diwasha Petit
123, TR SRR 9@ ®UT el ?
(1) Y&wa AR (2) HIEE S
(3) VAT TS (4) AU RO AES
Who was the leader of Mulashi Satyagraha ?
(1) Shankarrao More (2) Keshavrao Jedhe
(3) Senapati Bapat (4) Narayan Meghaji Lokhande
124, ‘IqHS T@ HUN WA B ?

(1) T TR : (2) TSI 9 Higd W4

(3) WM TIFE Wl (4) w@HE foaere

Who said ‘Go back to Vedas’ ?

(1) Ramkrishna Paramhans (2) Raja Ram Mohan Roy
(3) Swami Dayanand Saraswati (4) Swami Vivekanand

o FHNIST 3T / SPACE FOR ROUGH WORK
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125. 25 fedsR 1927 I I IR g8 el
(1) . TEERE g (2) TR fEhs HEEES
(3) TE.WH. e - : (4) H&H. MRS
burnt ‘Manusmruti’ on 25" December 1927.
(1) Dr. Babasaheb Ambedkar (2) Gangadhar Nilkanth Sahastrabudhe
(3) S.M. Joshi (4) B.K. Gaikwad
126. ¥ 1940 7= IieqT AT Y FERIY G TG SR,
1) & . S (2) o TRE E
(3) # 94 Ffw (4) &t T3 AEEEaR
Under the Chairmanship of Samyakta Maharashtra Sabha was
established in 1940.
(1) Shri S.M. Joshi (2) Shri Ramrao Deshmukh
(3) Shri J.S. Karandikar (4) Shri G.T. Madkholkar

127.

FIUR FIAGA Fiferdr T 2Teq FE It ?

(1) 1892 (2) 1909 (3) 1919 (4) 1935
By which Act was Provincial Government started ?
(1) 1892 (2) 1909 (3) 1919 (4) 1935

128.

I T F.

(1) SFwT st (2) Sy fie
(3) FAH (4) 9 T
sacrificed his life with a tri-colour flag under the foreign clothes loaded carrier.
(1) Shrikrishna Sarda (2) Jagannath Shinde
(3) Kurban Hussain (4) Babu Genu

129.

WA — I JEHR HIUer YA yed e 9 feoft ?

(1) UfEd SR A (2) gfew

(3) Toig e 4 ffe «feg w@

After Indo — China war, who was the first Prime Minister of India to visit China ?
(1) Pandit Jawaharlal Nehru (2) Indira Gandhi

(3) Rajiv Gandhi (4) P.V. Narsimha Rao

AT HHEMSE SR / SPACE FOR ROUGH WORK
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130. T4 AR Y HFTER {9 T S
(1) TR F NS (2) WEFWT T TR
(3) A@FW g MBS (4) TR T TSFOT
Chaphekar brothers assassinated Commissioner Rand.
(1) Damodar and Gopal (2) Balkrishna and Vasudev
(3) Balkrishna and Gopal (4) Damodar and Balkrishna
131, WAE THUe~<a SRUAGAE ‘gdfoy onftT ‘guNEd) @ Vel §EV 1976 =
_ UIIGEWIEN SUd 3.
(1) 4490 (2) 41t (3) 428t (4) 4630
The words ‘Secular’ and ‘Socialist’ have been included in the Preamble of the Indian
Constitution through the amendment of 1976.
(1) 44 2 41% (3) 42™ (4) 46
132, YT Togwe feasreed Tu Tgdd S0 §U ¥9@ ¥ ?
(1) TgY (2) TSI
(3) g (4) qEFHE
According to the Constitution of India, in Parliamentary system who is the real
head ?
(1) The President (2) The Governor
(3) The Prime Minister (4) The Chief Minister
133, YA WOt Yo ST FAHHR GSAGEEIA] TGddl e e
(1) 368 (2) 365 (3) 128 (4) 360
In which of the following Articles, has the procedure for amendment of the
Constitution been provided ?
(1) 368 (2) 365 (3) 128 (4) 360
134. YRAH STAVET BV TPGAH QA de8l TAPI I€ vact I 2

(1) e WiE W] (2) S FHR g

(3) I, e[ (4) 3R TREVH,
Name the President of India who was in the office twice.

(1) Dr. Rajendra Prasad (2) Dr. Zakir Hussain
(3) R. Venkatraman (4) KR. Narayanan

T TS FRN / SPACE FOR ROUGH WORK
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135. YRAHY SfaGFEAT WFT 14 = WTHIE &M 312 TR @die 3 e ‘sfae arde
[ar ffor sogmEr sfyeR o ?
(1) YesmEren (2) Ty faefhizarmen
(3) wwRen (4) AR

 Who has the authority for creation of ‘All India Services' as stated in Article 312 of
Part 14 of the Indian Constitution ?

(1) Prime Minister (2) State Legislature
{3) Parliament (4) Cabinet

136, 44 S WEAGEWI Yo AU AR HOET AUFR FGA HVA A ?

(1) wEa AEFR @) HudEr iR
(3) WA AR (4) Vhfs afuar
Name the Fundamental Right that was deleted by the 44" Amendment to the Indian
Constitution. _
(1) Right to Equality (2) Right to Property
(3) Right to Independence (4) Right to Education
137. IR TgHEAET FHAW 7 AAHIAT YA FdeA Jeoid dell AR,
(1) 36(3) (2 51 (3) 127 35 (4) 51(37)
Article of the Indian Constitution provides for Fundamental Duties of the
citizens.
(1) 36(a) (2) 51 (3) 12 to 35 (4) 51(a)

1ss.ma@1ﬂﬁmﬁa¥ﬁmmﬁﬁﬂmnﬁamww%ﬁ?

(1) 17 3ERER 1987 (2) 27 AT 1987

(3) 7 AT 1987 (4) 17 AR 1987

On which day did the Sarkaria Commission sﬁbmit its report to the Prime Minister
Rajiv Gandhi ?

(1) 17" October 1987 (2) 27% October 1987

(3) 7™ November 1987 (4) 17" November 1987

o BERIS! IIFT / SPACE FOR ROUGH WORK
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139. #% foFs T =l aee] Fof <0 &1 wafe =R U SN
(1) wf= (2) YAMHTETHS (3) oonayas (4) A
The authority of the Supreme Court of India to decide the disputes between the Centre
and States i1s of type.
(1) Original (2) Appellate (3) Advisory (4) Civil
140, WA HdH IRAT TSIHEAT SRUIGH & FE HIVTAT SINHSA IS ?
(1) ¥EcS 2) I 3) JTEE (4) srefa
From which country was the Preamble to the Constitution taken by the Constituent
Assembly ?
(1) Ireland (2) UK (3) U.S.A (4) Australia
141, T TR G Er ¥ Taew IEeE T TR S e ?
(1) 26 =TT 1949 (2) 26 SHER 1950
(3) 14 SHER 1935 (4) 9 fedax 1946
When did the ‘Federal Court of India’ transform into the Supreme Court of India ?
(1) 26" November 1949 (2) 26 January 1950
(3) 14 January 1935 (4) 9*h December 1946
142, TRare s ofor weTerE witge e HEA T 7
(1) TEYt (2) e
(3) ferret (4) 99
The Comptroller and Auditor General of India is appointed by the
(1) President (2) Prime Minister
(3) Finance Minister (4) Speaker _
143.

TeHTSIl Wi A gefia Javarr sfesr Henen g 7

1) oI (2) TAYES .

(3) T (4) foramasy wmget

Who controls the ‘Contingency Fund’ of the State ?

(1) Chief Minister (2) Cabinet

(3) Governor (4) Speaker of Vidhan Sabha
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144, Wmaﬁmﬁmﬁ@ﬁﬂﬁﬁM?
(1) fauare, fRyHoieg, TSaUE
(2) TPUR, TIWH], AEEA
(3) foee, TER, T
(4) TEEW, [quAufeg, e
What constitutes the Indian Parliament ?
(1) Legislative Assembly, Legislative Council, Governor
(2) President, Rajya Sabha, Lok Sabha
(3) Legislative Assembly, President, Governor
(4) Rajya Sgbha, Legislative Council, Lok Sabha

145, Toarem faymufteed 9o S&Ate frft ool Usaueisea fget et 9 2
(1) 1/12 (2) 1/3 3 1/4 (4) 1/6
How many‘of the total members of Vidhan Parishad are selected by the Governor ?

1) 1/12 (2) 1/3 (3) 1/4 @) 16

146. TTF TR HIUW WAFE YW W FAS MR 7

(1) faurmas (2) foumaiteg
(3) TsFEW (4) THRE
Which house of the State Legislature is the first but junior ?
(1) Legislative Assembly (2) Legislative Council
(3) Rajya Sabha (4) Lok Sabha
147. faurea SRR 9e9 G q4aie @ IR Sl ITR.
(1) 60 500 (2) 75 300
(3) 407 450 4) I AR
The Vidhan Sabha members can be between in number.
(1) 60 to 500 (2) 175 to 300
(3) 40 to 450 (4) None of the above
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148. 9eHIAE ToUd, faumew, furufeg fled e sediss TR gEa I
2T SV FEEd gEe IR ?
(1) e 168 (2) Fa" 171
(3) wHeH 169 (4) FaH 75

In which Article of the Indian Constitution is it stated that the State Legislature shall
comprise of Governor, Legislative Assembly and Legislative Council ?

(1) Article 168 (2) Article 171
(3) Article 169 (4) Article 75
149, SRAY AT SifepRIeT AT 9ZA=A fAN0T 3 FeW 14 @ 18 T e R,
(1) S (2) @R (3) i (4) W=
A reference has been made about the Right to of citizens in Article 14 to
18 of Part 3 of the Indian Censtitution.
(1) Equality (2) Liberty (3) Religion (4) Property
150, % T FEHT AT Tored [ fyfrmer smia TR,
(1) sifafEw 1920 (2) HAUHEH 1967
(3) fuftam 1935 (4) AfGF=EH 1974
Allocation of revenue between States and the Union Government is based on
(1) 1920 Act (2) 1967 Act
(3) 1935 Act (4) 1974 Act

151, TR H<IEEANE! HIvr ga a2

(1) JTIE (2) THIE. (3) H.aL (4) TAH.3ME.
For Network communication, which interface is used ?
(1) JPI (2) API (3) CPI (4) NCI

152. 3R WS G SeREES ot el dy, s BrA o ST WG el &9

TuTdrd.

(1) FNTH, IFHHETE (2) IRI=Y. THEHTA

(3) ISy THEHTA (4) IR TEIE

A network that uses electromagnetic radio waves and operates on radio frequency is
said to be

(1) RF Transmission (2) RW Transmission

(3) ERW Transmission (4) ER Transmission
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153. FDM 3 FI0Ie] FHRIAT TFUIRT & REERUIRT Ao SRREema Tae a2 qerd Adiam
T furTeie WTeTEEA A= 3,
1) Th (2) [ (3) 3F (4) T & T
Frequency Division Multiplexing (FDM) allows pair of sender and receiver
to communicate over a shared medium simultaneously.
(1) Single (2) Double (3) Multiple (4) None of these

154. TIEEAET AN ST AT Sgdl § M GUIEHER W @l e e U
(1) dige T uide AT @ far ek
(3) WR I (4) A THE AR
The communication channel connecting two computers being available to those

computers exclusively is known as
(1) Point to Point Network (2) Ring Network

(8) Star Network (4) None of these

155. éaé@e-Saguﬁmeﬂwmmmm.

(1) = o dagE d gE 2 TR TN e
(3) 3T rEaEHd (4) e I TR
e-Sagu is web-based system developed for

{1) IT sector (2) Electronics industries
(3) Agro-advisory (4) None of the above

156. YRAH Wefd GEie HORT YR H TIR Fe ?

(1) &% (ENIAC) (2) Y (PARAM)

(3) smEfawH (IBM) (4) =¥ (DELL)

Which of the following is the first Super Computer made by India ?
(1) ENIAC | (2) PARAM

(3) IBM | (4) DELL

157. T G0 § Y SR 3T

(v o S | (2) 9 Trdrarsi

(3) WR 2dfeh 4) IR = T
Local Talk is the example of

(1) Ring Topology ' {2) Bus Topology
(3) Star Topology ‘ (4) None of these
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158. Internet @ SHIVEAT WA adfERe W@ MW@
(1) T3H (2) Yaew
(3) WY (4) i TR T
Internet consists of a set of networks interconnected by
(1) Routers (2) Packets
(3) Switches (4) None of these
159. e-sagu & STHA TGRAEId! RV A T ey S ?
(1) fudar & 3T 7 I, dEER
(2) fodmn &f" Il g sm.emg s,
(3) ¥EIEAH. T I, FAR
(4) i 9 wwd T
e-Sagu is a joint research project done by
(1} Media Lab Asia and IIIT, Hyderabad
(2) Media Lab Asia and IITB
(3) IITB and IIT, Kanpur
(4) None of the above
160. TEEios) 3gF Ja9Ee I3W fodvard sgEa Hvd ?
(1) www.google.com (2) www@pgoogle.com
(3) xyz@gmail.com (4) www.http@google.com
Which of the following is the correct format of web-site address ?
(1) www.google.com (2) www@google.com
(3) xyz@gmail.com (4) www.http@google.com
161. TUEHRE FH AWO WU FRRT ?

(1) AT (2) WA A
(3) W (4) wEtER
Hacking means access to computers.

(1) Authorized (2) Unauthorized
(3) Private (4) Public
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162. NI@ 3 JUER I S 90 S0 TR WA ? - =
(1) dREE  (2) Uedd (3) wEER L (4)  Tiesaid
creates a protection wall between a network and possible intruders.
(1) Safetywall (2) Paintwall (3) Firewall (4) Coldwall
163. TETA FIe ARG WER FETH WA haei! GEDIS TradeNET & Siesait §ar

GAlG
(1) STHUEATA - (2) "W TWHUEATA
(3) WHHTA (4) TATTA

The Indian cyber law has established the following GEDIS TradeNET network service
for EDI.

(1) BSNL (2) VSNL
(3) MKCL ' (4) MTNL
164. Wied! T HEI 2000 T FHEG HIT AT 3R
(1) "TE (2) WER o (3) wfged (4) WK &%
Information Technology Act 2000 is an Act of
(1) Computer (2) Cyber law (3) Information (4) Cyber cafe
165, Tfed THMH FAL 2000 HLTIYT el e
(1) 17-10-2000 (2) 10-11-2000
(3) 02-02-2000 (4) AAH T AR
The Information Technology Act, 2000 has been enforced from
(1) 17-10-2000 (2) 10-11-2000
(3) 02-02-2000 {(4) None of these
166.

A wE e i W G TR ?

(1) dIUsh (2) 9EFT

3) IR (4) TS A

Which law is pertinent for legal validation of transactions in electronic securities ?
(1) Computer (2) Cyber

(3) Communicative (4) None of these
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167. i ot fase wafy fraer,
(1) H-igd Fad (2) Si<Fa wEa
@) feaRT amR R (4) TEHES
Identify the odd term among the following.
(1) Co-axial cable (2) Optical fibre
(3) Twisted wire pair (4) Microwave
168. WYEEANT ¥t YRl o ww NP s /3N fewEuY Yew wwhm a
(1) FER (2) THEER
(3) WERITHF (4) TE-ToFH ARA
A communication device that combines transmission from several I/0 devices into one
line is a
(1) connector (2) modifier
(3) multiplexer (4) full-duplex line
169. IEHT HAIH 3 fawR Ew
(1) JTET (3mdE) (2) U= (3) =4 (4) WG
Abacus was first developed in
(1) U.S.A. (2) Japan (83) China (4) India
170. ey WG €ER TE FE ?
(1) I (2) TaE " I
@ s 4) TEEE
What is the name of the first automatic computer ?
(1} Abacus (2) Harvard Mark I
(3) EDVAC (4) EDSAC
171, TGS R FE ?
(1) TR FEA TS (2) TARAE B T
3) T T TR 4) TR TER T
What is EFT ? :
(1) Electronic Finance Technique (2) Electronic Fund Transfer
(3) Easy Fund Transfer (4) None of these
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172. TGS Zaeic =1 3940 &G ?

(1) $qE TR TR (2) IEEYE AHTH T

(3) of A (4) o @d

What is the use of Graphic Tablet ?

(1) Input Graphics Information (2) Output Graphics Information

(3) Draw Graphics (4) All the above
173, % fA=et = 2

(1) 1TH (2) 164 (3) 44 (4) 1024 &t

1 Nibble = ?

(1) 1MB (2) 16 Bits (3) 4 Bits (4) 1024 GB
174, LI FIS e 3 ?

(1) e (2) | (3) «HA (4) A

Where did the Bluetooth originate ?

(1) Nokia (2) Sony 3) LG (4) Ericsson
175. 39 @ g9 @ & I ? |

(1) 0¥1000 (2 OW 255 (3) 255 ¥ 512 4) 0¥ 512

What is the Range of IP address ?

(1) 0to1000  (2) O to255 (3) 255 to 512 (4) 0tob12
176. U9 31 TH U 784 WG9 Sr@vaEer v S araiard

(1) <> (2) <3AT>

(3) <AFTHS > (4) e t& T

In HTML which tag is used to add Images ?

(1) < Picture > (2) < Image>

(3) <Img> (4) None of these
177. @M 9 feslea 7 fesiea 9 3iEm Sl yomel 9@ ?

(1) Tz v =y 2) fiex

(3) wEw | (4) ®X

Which device is used to convert Digital to Analog as well as Analog to Digital
Signal ?

(1) Set Top Box (2) Printer

(3) Modem (4) Router
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178. T& a9 U9 ol HgEal S S fohdll TR T8
1) ¥ 16 2) 10
3) W (4) A TR TR A
A web page has a maximum of levels of heading.
(1) head 16 (2) 10
(3) six (4) None of these
179. IR FAGEA TG FEFRUIrE) Hvmar 37 A
1) <di> 2) <¥>
(3) <¥> 4) <> .. </BH>
To accept the Input from the user which tag is used ?
(1) <b> (2) < pre>
(3) < center > (4) <FORM> ... </FORM >
180. =W & UH Ve ST faurmd faunTvaArEEt Siorar S amda
(1) <T=T> (2) <TISITHTA>
(3) < T > (4) < %8 >
To split browse into two or more, which tag is used ?
(1) <browser > (2) <HTML >
(3) <split> (4) < frameset >
181, ¥ YW WRUH g UH-YOT faurme sAfacen dfeed SEher | w1
(1) STEEH 2) qUEE I
(3) 3WUME (4) g uH AfEAe
Intrnet designed by US-Defence Department as a first project is
(1) Alfanet (2) Usdnet
(3) Arpanet (4) Usarmynet
182. OIS UG W doid 3o (@iE WU
(1) ERe fFEm (2) ENfea faam
(3) foam (4) TeEeHs A

means authentication of any ele¢tronic record by a subscriber by means of an
electronic record.
(1) Private signature (2) Digital signature

(3) Signature (4) Electronic signature
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183, fesfted fem aRvaERt S iR e 9| &Y ?

(1) u=is & (2 YERE F

3) fremms (4) WEER F

What is the name of key of a key pair used to create digital signature ?

(1) Public key (2) Private key

(3) Cryptography (4) Cyber key

184, A WA ATEEA S FAYN o el S el e wora

(1) WFR FEA (2) W WY
3) HT @ (4) A T
is governed by a system of laws and regulations called cyber law.
(1) Cyber crime (2) Cyber space
(3) Company law (4) None of these

185.ﬁaahém3ﬁwaaﬁmm

1) wWaAR 2 WAR

3 wWwHad (4) HAdd,md

Cookies are stored and read using header.

(1) HTTP (2) FTP (3) SMTP (4) TCP/IP

186. §3 e WIde Widi® Ve GUiEr 3 W HA G HO GO LIRS
(1) THEm (2) FEM (3) fesiEm (4) BIEEM

means accessing the message by framing the meaning of words and marks
after receiving the message.

(1) Encoding (2) Coding (3) Decoding (4) Folding

187. @A 36 RO W T FANE T8 ?

(1) I THE T (2) A 3T
(3) g aA 4) FETEGR
Which of the following is not an Internet connection ?
(1) ISDN (2) Dial up
(3) Leased line (4) ISP
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TEAE 99 U HeA SAUHaun fied ddie AT weul, e Wl el 3
FIOTAT B .

(1) wad 2) Tad 3) fwima (4) 9%

The person who withdraws and inserts the information illegally from a web site is
called as

(1) Cracker (2) Robber (3) Criminal (4) Thief

189,

EUS .

(1) TET (2 FEFE (3) FRATA (4) W
To communicate with other computers through Internet is known as
(1) PIM (2) Browsers (3) ROM (4) Portal

190.

ag2F & §Eel

(1) T <gT aufAt fmir ax

2 = 2000 Gt fmfor g S

(3) TUIHAT THS Fmivr Sl et

(4) af 2000 TR fmoT gkl SRR T T

Y2K is the problem |

(1) Created after every 10 years

(2) Created in the year 2000

(3) Created due to mistakes of computers

(4) The problem related to the computers that arose in the year 2000

191.

.MICRZIQ
(1) Hridie TR SRR WSl WA (2) EIHA IEE IR Al STard
(3) dRGHIT AN SaE (4) fm, T ANd SoE

The MICR can
(1) count magnetic ink characters (2) count optical ink characters

(3) count barcode (4) count picture & chart
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192, DNS & ¥ Tl arweht S

(1) I W FEm 2) ferw <wim oy

(3) TEEEA = WU (4) Fd I TR

The term DNS stands for o |

(1) Domain Name System (2) Defence Nuclear System

(3) Downloadable New Software (4) None of the above

193. TR TR UH Ahicls Wiaed qE= diiicis §He g4 TRUAreAT qefiesde

EIRRCMGIG

(1) & Sidi (2) qEEFEAe S

(3) WS ST 4 a0a I wd T
Cyber criminal has the tendency of geographical border.
(1) Country jumping (2) Jurisdictional jumping
(3) Cyber jumping (4) None of the above

194. @I e 2000 TR €UE 9 @F & GUE FO A= oy w7 2
1V T1 9" (2) T1 T
3) T1 &N - 4) T IW

As per IT Act 2000, penalty for damaging computers, computer systems, computer
networks etc. is

(1) ¥T1lakh (2 T1 crore
(3) T 1 thousand (4) ¥ 1 hundred

195. Io/ YaETenT e AT IT Y sea S J9 atel S ?
1) 2fewm (2) o9 &t IR T
(3) 3 (4) a0d i wd T

For Railway Enquiry System, the IT Application used for the interaction with the
passengers is

(1) Telephone (2) IVRS
(3) E-mail (4) None of the above

o BHAS! STR / SPACE FOR ROUGH WORK



A 47 RHM
196. I 3iaRA fetie fagie Svammien S e Y1 FEf=Ea gl IR 2
(1) IRIF = ‘ (2) 9 A S H
(3) uAAFH (4) FNITH
For online Internet railway ticket booking, which service is launched by the Indian
Railway ?
(1) RIV (2) IRCTC
(3) LIC (4) RES
197. TR SN HITAT FHRE {1 AGER S 2
(1) wHadd (2) IFH A (3) THEHA (4) AA
Which type of education system is followed by the progressive institutes ?
(1) CBT (2) IBT (3) FBT (4) TET
198. 2 I U IR My e & ot € arfed 2q.
(1) AT RS (2) ST s
(3) U=i® FEree (4) Tsdi 3T
is a Computer Based Terminal that provides any information.
(1) Data storage (2) Information kiosk
(3) Public utility (4) Public access
199, FHUTEA HHEH ARG HoRd FUM HIfEd! AgH Hivd 2
1 v 2 <
@ W (4) =@ I R e
Which technology of mobile phone is supported by the Information Technology ?
(1) DAC (2) DDL
(3) CDMA (4) None of the above
200, ¥ 3N ¢ TN T
(1) e fawmefe die (2) FHAHE W WERE
(3) Zeomy fEd i (4) T9Ew 0 uiEe
ERP stands for
(1) Entity Relationship Point (2) Economic Ratio Profit
(3) Enterprise Resource Planning (4} Equal Ratio Point
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AT - (75 1 769 g2....)

(8) Wyfened fafeq Foiem fafee sriw =2 @@ (W o) F@.
TR a1 FoH FIIGER Fed M Fedd o HIAl FOFAT ILAH Sl 37, 3™ A
T 9 THER IHEERER WEAR 9 Foew Cvdwmed g fdwemri sfady
FUIEETe AUTEH-82" A TRGIGER PRAR FOAd A T N o B T
Fute FREEEAr 3ft)/fEar T3 UE F9R e Sere YR um e

(9) R YUFEE e fafgd FAE 9% TUEEHAX IHGARIT § TRAYfEe WAy et
TRRTER 94 SUAM TEAT R, NN THGTRGIERY WvAgE SHeaRe et
IAEHET WAT-1 AGERS 7 fa8tar uiq S0 oavas ITg.

ks LIRS
T % 201, A 96 AT FUGEIS RO TORE TAST St ?
(1) @l gFHE JeEEr (2 IvaER faaemr
(3) T WA U4 (4) TITEFOT TR

W TR AT I 43) T TR T W R, W A VRN ST 4(3)
Aeer. AT EEETE X%, 201 T Iw-wEw «B)> ¥ adw i ot we
T STETIE ST, |

met @O 6O @ @

M TEAH T TR TE YAl F SAGHAIS & e e
eied] IHUtehalie 1 ™ TCHRAEEET eEd T o Srifea S e,
THAT Had HieA WEY Sieldd add, 4Fad & wEe 19 aus 14,
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